Homework 4

SNU 4190.210 Fall 2012

Kwangkeun Yi

due: 10/12(Fri) 24:00
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leaf : string X value — tree
node : tree X value X tree — tree
isleaf? : tree — bool
leftsub : tree — tree
rightsub : tree — tree
leafval : tree — wvalue
leafstr : tree — string

rootval : tree — value
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isS?: &9 — bool
isK? : &9 — bool
isI?: &9 — bool
isv? : £ ¥ — bool

isa?: -§& ¥ — bool

var : &9 — string (* Mg A mgolE *)
ali 8§ (FBIA T BAF) A% B )
ac: o 89 (F 23T ) BT LER £ %)
pprint : &4 — void  (* oA ZAEF} 7] *)

$ el A pprint TAZ} A F 3k P40 2 A ESF It O



